
25 points 25 points 25 poin t::; 25 points 100 points 

1 2 3 4 Total 

III 

MATH 154 CALCULUS II 18.05.2013 
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1 . (a) Evall1 <1tc the indicated lilll il or cxplaill why it docs not exist. 
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(b) Calc ula te / , (0 , 0) and j y(O, 0) of the gi\'ell function 
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2. 	 (a) Find the rat e of change of the fllnction f (.r) = :l: cos y aL t he point (0, rr) in the 
d irecLion of thc vector II = 2i + .i . 
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(b) Find the equat ions of Lhe tangcnt planr imd the normal lint' to the graph of 
t he function f (:c) = 32 - 3.r2 - 4l at the point wherE' x = 2 and y = 1. 
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3 (a) ju(se La~·al1 gc . 1I 1ult.iplicrs to fin el the ma.xi mullI. and the minimum valu('s of 
x . y) - :t + 2y subject to tbe COli t Wlll t .)"2 + y2 = 1. 
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4, (a) Evaluate t iIe in tegra l lr a, I cos (,£2 + J/ ) etA 
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(b) Entluate the integra l / ' J(.t + Ji ) dA where R i the region bounded by y = x 
. n 


and y = .1,2 
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